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| SECOND YEAR HIGHER SECONDARY SECOND TERMINAL
EVALUATION, DECEMBER 2019
Part 111
ACCOUNTANCY WITH ANALYSIS OF FINANCIAL STATEMENTS

Maximum : 80 Scores
Time ; 2% Hours
Cool-off Time : 15 Minutes

/ General Instructions to Candidates : N
* There is a ‘Cool off time’ of 1 5 minutes in addition to the writing time of 2%z hrs.

» You are not allowed to write your answers nor to discuss anything with others during
the ‘cool off time’.

* Read questions carefully before answering.

e Calculations, figures and graphs should be shown in the answer sheet itself.
 Malayalam version of the questions is also provided.

 Give equations wherever necessary.

« Electronic devices except non programmable calculators are not allowed in the
Examination Hall. '
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PART — A %
ACCOUNTANCY (40 Score) i
Score Score : ‘

L. Answer all questions from 1 to 5. Each
carries 1 score, (5x1=5)

1. When revaluation expenses are paid

by the partner on behalf of the firm the
account which is debited is

a) Revaluation A/c
b) Partners Capital A/c
¢) Bank A/c
d) Cash A/c

2. Sometime the value of goodwill is not
given at the time of admission of a new
partner. In such situation it has to be

inferred from the arrangement of capital

and profit sharing ratio. This concept is
called

a) Premium for goodwill
b) Average of goodwill
c) Hidden goodwill

d) Purchased goodwill

3. Increase in value of assets of firm at the

time of admission results into
a)l Gain to existing partners
b) Loss to existing partners
c¢) Gain to the new partners

d) Loss to the new partners

I
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4. In the event of death of a partner, the_

~amount of general re sefve is transferred
- to partners capital account in

a) new ratio |

b) old ratio

c) capital'ratio

d) gaining ratio

5. Retiring or outgoing partner :

a) Is liable for firm’s liabilitics incurred

after his retirement.

b) Is not liable for any liabilities of the

firm.

c) Is liable for obligations incurred

before his retirement.

d) Is liable for obligations incurred

before and after his retirement.

II. Answer any 4 questions from 6 to 10.

Each carries 2 scores. (4x2=8)

6. Rajesh, Jithesh and Prince are partners
sharing profits in the ratio 4:3:2. Rajesh
retires ; Jithesh and Prince decided to
share future profits in the ratio of 5:3.
Calculate the Gaining Ratio.

Score
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7. Reshmi, Mariya and Sonia are partners

10.

sharing profits in the ratio of 3:2:1.
Mariya retires and goodwill of the firm
is valued at Rs. 90,000. Reshmi and
Sonia decided to share future in the ratio
of 3:2. Pass necessary journal entries

relating to goodwill.

- During the year 2007 a club received
Rs. 1,00,000 as entrance fees. According

to accounting policy of the club 40% of
the entrance fees is to be capitalised.
How will you deal with entrance fees

received by the club?

. Write any two difference between

gaining ratio and sacrificing ratio.

Gokul and Gopika are partners in a firm
sharing profit and loss in the ratio of
3:2. They admit Sreya into partnership.
Sreya brings 50,000 as her capital and
the requested amount of goodwill in
cash. The total goodwill of the firm is
24,000. The new profit sharing ratio is
3:2:1. Give necessary journal entries for

the above transactions.

7.

10.

T
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 II1. Answer any 3 questions from 11 to 14,
" Each carries 3 scores. (3x3=9)

11. Explain goodwill. Name any two factors
affecting goodwill. '

12. Hari and Ali are partners in a firm
sharing profit and loss in the ratio of
3:2. They admit John into partnership
for 20% share in future profit. Calculate
the new ratio and sacrificing ratio of
Hari and AlL.

13. The average profit earned by a firm
for the past few years is Rs. 3,00,000.
Normal rate of return in the class of
business is 15%. Find out goodwill
according to Capitalisation of Super
profit, if the value of net assets amounted
to Rs. 16,00,000.

14, Ajith. .and Hari are partners sharing
proﬁts'and losses equally. They admit
«Prakash into partnership and the new
.ratio is fixed as 4:3:2, Prakash is unable

to bring anything for goodwill but
brings Rs. 25,000 as capital. Goodwill

of the firm is valued at Rs. 18,000. Give

the necessary journal entries assuming

that the partners do not want goodwill

to appear in the Balance Sheet.

Score.
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IV." Answer any two questions from 15 to 17.
“Each carries 5 scores. (5x2=10)

1S. a) Howdoyou treat subscriptions received
by a not for profit organisation s

b) Receipt and Payment Account of
Netaji Sports Club showed that
Rs. 68,500 were received by way
of subscriptions for the year ended
on March 31, 2019. The additiona]
information was as under :

1) Subscription Outstanding as on
March 31, 2018 were Rs. 6,500.

2) Subscription received in advance
as on March 31, 2018 were
Rs. 4,100.

3) Subscription Outstanding as on
March 31, 2019 were R, 5,400.
. 4) Subscription received in advance
as on March 31, 2019 were
Rs. 2,500,

Show how the above information
would appear in the final accounts of
Netaji Sports Club for the year ended

on March 31, 2019.

16. Asha and Boby are partners sharing
profit in the ratio of 5:3 with capital of
Rs. 80,000 and Rs. 70,000 respectively.
They admit a new partner Nitin. The new
profit sharing ratio of Asha, Boby and
Nitin is 5:3:2 respectively. Nitin brings
Rs. 40,000 as capital. The profit on
revaluation of assets and reassessment
of liabilities is Rs. 6,400. It is agreed
that capitals of the partner’s should be
in the new profit sharing ratio. Calculate
new capital of each partner and pass the
necessary journal entries assuming that
Asha and Boby brought in or withdrew
the necessary cash as the case may be
for making their capitals in proportion
to their profit sharing ratio.

RR AR O

Score i

IV. 1S oyt 17 cunnw)gs agomesielo 2 .198)

TBRSE YO0 ag)P M. S aapod allme.
Rd6) UMB0 ag)¥i™) a (5x2=10)
15. a) energwigoem iudamflenm ey
modalmewflm aidle] cudlavoaje68
lemR ereavamElerEla ag)emBom aldl
wemlaano ?

b) 2019 moda) 310y @meaimvonilay quomy
@tfle udaiemsiid 68,500 @t el
uos)y aidl.ajmowl emmogdl migatodsmd
gnllod aomile] apdw eulowa
BRAEYVENE 06N UMY, QUdlVo6L Y,
MIMWea|g eoule allieaB mIey
madayomy. ' :

1) 2018 20.9) 3 1081 eySifiasmow id
moey 6,500 apal.

2) 2018 aodo)3 1 ool ayodeynom eidlay
aldimoaty 4,100 ajal.
3) 2019 aodof 31eal olyfl oo
audlmoaly 5,400 @t
4) 2019 aodo)3 1eeal aywyood eidlay
udlrvoady 2,500 agal.
smmogdl smods' ™’ genllag 2019
aodaf 310 @ecumomlel aidauaniles

QUodaslles Semd-lTd moelepas allaiw
ETBUR ag)FIBEM GREUESIETIO ?

16. 5:3 agom meMIOBEDIE oo alsmi]
SM 120800 GpauRlo eonemleno |
@wd@ac 80,000 o1 70,000 Mol
agaiwm ofleefiallda peng. @raid aflaflexn oyl
@ al@oglwowl (dacUdla flomemyo 5:3:2
ag)M BEMa POARAG elemayestd allmo
g alloyaoaienewio e.algymy diaid
40,000 oot ayeiwmmow OB,
@RISR0 eNIoWMB-e0 agmdayelyriidemao
6.01Qeaiod 6,400 myel eeo amnd. apeiio
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EDMloM 20 9EmILYM Es O
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17. Anv, Binu and Cinu are partners in a 17. 3:2:lagm momesomeic 2@ magemnd

" firm sharing profit and loss in the ratio
of 3:2:1. On 31* March 2019 Cinu’s
capital account shows a credit balance
Rs. 20,000. On the same date he died.
Under the terms of the partnership
deed, the executors of a'deceased

partner were entitled to :

a) Amount standing to the credit of

the Partner’s Capital account. -

b) Interest on capital at 5% per"

annum.
c) Share of goodwill on the basis of

twice the average of the past three

years’ profit and : ..
d) Share of profit from the clo_é,ing dal_;:.c

of the last financial year to the date

_ of death on the basis of last 3 year_.l’sl

average profit.

Profits for the year ending on March
31, 2017, March 31, 2018 and March
31,2019 were Rs. 20,000, Rs. 1 6,000
and Rs. 18,000 respectively. Calculate

the amount due to Cinu’s executors.

aIEIS)M aimogldngoem’ @omy, enilmy;
mimy. 2019 @od.a)3 1af milaadleg ayeim
aeeeerd 20,000 o oy afesial
ﬁﬂ% S0NIBYMM, @AM Ao @RWICD
DREMEQS}ER0 alBogdam xeodiexd @es]
moomaildd alsodlayes mwaceadw

@ U0 B DB HM alO@IM AU

ERBOM@ABABYR0EYIY,

a) alsoglayes agmwmmmosné]eggg
- (fleosfiaiidlap ey e
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d) elemm omuEle: AdMETag
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.I mmwggg seafladimo (s:emm aymy
o dﬁn&ds&@ém w00 cuor‘bosiloe:eloemﬂ
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@'iﬂGTﬁTU} @My (ﬁﬁ:n&dmglmel Blogo
2017 modaj31 -20,000 g
2018 @odo]31=16,000 ey~ =~

2019 @oda) 31 — 18,000 o

rilmgalleng MIwme 10m0@ @RAkeAEUBsE
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V. Answer any 1 question from 18 and 19,
Question carries 8 scores. (1x8=8)

18. The following is the Balance Sheet of
Amnil and Sunil sharing profit and losses

T

Score

V. 18 oy 19 AUoowes agamsilalo 1 s.almy

@ilad 9emee ag)wjmye,. 8 arpod. (1x8=8)
18. 2:1 agom ermyatomondid BI0BOe MaHaLyo
@ISy @oslad, muyafled agomilaumes

En0eIBN a¥lly moee madeymy,
in the ratio of 2:1. . :

Liabilities Amount Assetg'  Amount

(Rs.) ' (Rs.)

Sundry Creditors 20,000 Cash ' 10,000

Reserve Fund 30,000 Bank 14,000

Capital Accounts - . Debtors 60,000

~ Anil 50,000 |Stock 6,000

Sunil 40,000 Furniture 20,000

5 Buildings .- 130,000
1,40,000 1,40,000

They agreed to admit Sunita into
partnership on the following terms:

1) Sunita to pay Rs. 9,000 as Goodwill.

i) Sunita bring Rs. 20,000 as her Capital
for 1/4 share of profit in the business,

iii) Building and furniture to be depreciated
at 5%.

iv) Stock is reduced by Rs. 1,600 and

v) Bad Debt Reserve Rs. 1,300 to be
provided for debtors.

Prepare necessary Ledger Accounts
and Balance Sheet after admission of
Sunita. '

flojowym aflenimumeaies @dimunam
osflad uflme al@oglwoe (aequw
afkengomy |
1) oyaadepel 9,000 ot A DEeemo.
ii) 1/4 epeewimog mofia 20,000 ol
@QeImo Meemo. _
1ii) e@dlsaye nnc'rﬁsrﬁl_r_gog,o 5% ne%ogg‘}emo
V) el agelo aya 1,600 ORI,
V) #lIgoaasamicoa 1,300 @
laeloyememo,

mrle@es (sawmaymow MUMDOS
DRIURD EoseIMEBRle [eaIRMETIT
Gmm&gg MunvaImElend enioaicdmy adiglo
MRIOOBE:.. b
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19. wiw, dm, e agiicud @wosae 5:3:2
agm @pmialomerildd eorao Magaloe

19. Priya, Reena and Geeta are partners
sharing profits and losses in the ratio of

5:3:2 respectively. On March 31, 2017, el aleoglegoe, a0daf31 2017 of
their Balance Sheet was as under : EROIReS eroelidmy atfic iaJe:00a06TS.
Amount Amount
Liabilities Assets -
(Rs.) (Rs.)
‘ Creditors 95,000 |Buildings 1,00,000
Reserve Fund 30,000 |Patents 30,000
Capital Accounts : Machinery 1,50,000
Priya 1,50,000 |Stock 50,000
Reena 1,25,000 |Debtors 40,000
Geeta 75,000 |Cash 1,05,000
4,75,000 4,75,000
Geeta retires on the above date. _It was Rgad otosmm el die
agreed that : euladileyy . -
a) Machinery be valued at Rs. 1,40,000; a) @l aRmd ajeljo ©.21Qe0 {o0b Ol

Patents at Rs. 40,000 and Buildings at
Rs. 1,25,000. e

b) Provision for doubtful debts was to be
made 5% on debtors. |

c) Afterretirement the remaining partnefs

share profit and loss in the ratio 5:3.
d) Goodwill is valued at Rs. 30,000.
Prepare the Revaluation Account and

Balance Sheet after retirement of

Geeta.

od 1,40,000 mpat, eaigadgims’ 40,000
- mal, ogiseoecd 1,25,000 qpat.

b) slgosnsaniimy 5% Samad eaisaemo.

c). aflod.a) avatio uratlenym almoge:d
5:3 agym @rmietomaeiad aoengo magalo
alsssimy,

d) msaigiend agere 30,000 qyaiaosts.

Ao aledloleiim) sRaumes aymbagely
mrfldemm (Glauoasalatii) @RHHTEMB)0

snoLIda atliRio @XGIINOBEYES.
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PART - B
_ ANALYSIS OF FINANCIAL STATEMENTS (40 Score)

- Score

I. Answer all questions from 1 to 5, Each

carries 1 score, ' (5%1=5)

1. As per Section 78 of the Companies
Act, amount collected as premium on

securities cannot be utilised for.

a) Issuing fully paid bonus shares to;the
members

b) Purchase of fixed assets
c¢) Writing off preliminary expenses:

d) Buy back of its own shares

2. Which of the following is false with

respect to debentures ?
a) They can be issued for cash

b) They can be issued for conSIderatlon
other than cash

c) They can be issued as collateral
security

d) They can bé_issued in lieu of
-dividends

3. In the case of financial statement of a
company the term current asset doesn’t
cover ' :

a) Deferred tax assets
b) Inventories

¢) Trade receivables

d) Cash and cash equivalents

L. 1 qyonad 5 cuenw)gg ag)gp 8.0103mde00
' gmmong)wgmgﬁlmpu%anm (5%1=5)
1. &mucd dlonoe aeye] 78 @omymdlal
oo yolglegld mlomjo Ln.nm'lcmmomﬂ
- aweudlenyam e oMl aloWIM aR®
o £00J6BDS6) Dalcworileno L ialg)
N a) @A o ljdERDOWIO alemDS

€) (owale ealBIaed 0g) 93

. dSo|(@emginow] sumbeg|s ool
L ajooymaiel@ emg ogaoem ?

"'b) AlGEMma {nJ(bﬂaﬂE‘.ldeﬂmotﬂﬂ

0 eodimgs woa cugouoal n-u '

||m|,|m||l||.lﬂl_l: ,.

288 EeIeMIY HaBROE:R aflmeeme ;
ealgpomailad. )
b) mude m@o;ﬂae:c% QoD

- omasmaiion) | ! :
d) aunmo eI dildee: anssmmeilal
a) @ocu atemafloy nJ&omgdsgo_ﬂaaogo
aj0des0fleno
Oﬂcﬂﬁ)&o :

d) eneafladmoias n.zua;mmamﬂ n.g
afles)o

a) ofaslanla] ﬁﬂrﬁ:&(ﬁﬂ L
b) esiidlapy _rurocew iy

1) allddajm aus euélwsns tmg@:

d) asemayo msmmmuﬂcm @gemommmgg
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4. Which among the following is not an

objective of the Financial Statement ?

a) To provide information about the
earning capacity of the business

b) To judge effectiveness of
management

¢) To make Manipulation or Window
Dressing

d) Disclosing accounting policies

The financial tool in which each item is

stated as a percentage of the aggregate
is |

a) Common size statements
b) Comparative statements
c) Trend statements

d) Cash flow statements

II. Answer any 4 questions from 6 to 10.

Each carries 2 scores.

6. Write any two method of redemption of

10.

debentures.

List out any two objectives of Analysis
of financial statement.

. Write any two items that will appear

under the head shareholders fund in

Balance Sheet of companies as per
Schedule III.

. Narrate any two nature of financial

statements.

Financial statements are the basic and
formal annual reports of a joint stock

.company. Name the two important

financial statements of a company.

(4x2=8)

4,

Score
Dlgjomauaiadd agmosn’ Wm0y

COEUBYOS BlY o BORPEDE ?

10.

a) enfmicnaqfexd aua@om cunlowsand
2488 allaestsid Moy
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III. Answer any 3 questions from 11 to 14,
Each carries 3 scores. (3x3=9)

11. 1,000 shares of Rs. 10 each issued at a
premium of Rs. 2 per share are forfeited
on which Rs. 8 (including premium)
have been received. But final call of
Rs. 4 has not been received. These
shares were reissued for Rs. 5 per share.
Pass necessary journal entry in the

(WM
Score

L. 11 aymad 14 cuocw)gg agemedleyo 3 aatoay

BB HAMRE agyejmie. 3 aapod allmo.

(3x3=9)
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0.1Q) SEMROMmIALo amdaimosmaynom

11.

15

0] i+
books of company. oIMWen s azaten@d agdSled sxminiaes
 ENpAESITY GRS, K
12. Write any three limitations of financial 12, CUTLIETID: (oS agyexmesiieno apma kd
statements. Blafaxd agysmes.
13. Complete the following common size | '13. @ﬂﬂgjowgn’ﬁ GHOMEND G’QFT.‘:JC'TU"I D0
Income statement. : sauReandend allgiealow cmem@ aydenmi
Particulars Absolute Percentage of || [aicoeoocmemndd aumnyden aye | @rgaledejmayes
Amounts Net Sales ! e RTBANO B
2017-18 | 2018-19)2017-182018-19|| | 2017-18| 2018-19 [2017-18 [2018-19|
Rs) | Rs)] (W) (%) Rs) | Rs)| (%)| (%)
(Less) Cost ' (ongmo) ' -
of goods alig
ld 1,50,000 3,60,000 - ol | | iksomtiabindt thd RUR 351 FERHS
o gosale  |1,50,00003,60,000 |  —
Gross
a Mo
Profit 1,50,000 |2,40,000 50 0 eoso- . [1,50,0002,40,000 50|, 40
(Less) (mymo) . | - ol
Operating ; lesamomm |- = it
Expenses | 60,000 | 90,000 =1 15 || paecged | 60,0000 90000 @ —
Operating | fecudmmm ;
income 90,000 (1,50,000 = — || lruryaomo 90,000 |1,50,000 joi il
(mgmo)
(Less) Non- Py
Operating fe-com
30,000 | 60,000 10 10 ' :
Ses ’ ) o
A pawaged (30,000 | 60,0000 10| 1
Profit 60,000 | 90,000 20 ~ || fempenes 60,000 | 90,000 0]
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14. Financial analysis can be undertaken by
management of the firm or by parties
outside the firm.

Name any three external stake holders

of Financial analysis.

IV. Answer any two questions from 15 to 17.
Each carries 5 scores. (2x5=10)

15. Jupiter Company Limited issued 35,000
equity shares of Rs. 10 each at a premium

of Rs. 2 payable as follows :

On Application Rs. 3
On Allotment Rs. 5 (including premium)
Balance on First and Final Call

The issue was fully subscribed. All
the money was duly received. Record

journal entries in the books of the

company.
16. Match the following :
A B
1) Reserve and a) NonCurrent
Surpluses liabilities
2) Trade Payable b) Fixed
Assets
3) Inventories ¢) Shareholders
fund
4) Long term d) Current
provisions Assets
5) Tangible Assets e) Current
liabilities
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17. From the following statement of profit
anc_l' loss of Galaxy Co. Ltd., prepare
co.mparative statement of profit and loss

(LTI R

~ Score
17. woaigl @qum eldlgaleng eosmay
ladayocumaiad afles’ 31 modal, 2018 myo

2019 mye @mocumOM el QURNHTDHNSS
BOBMaYATIO@E moemay (aJOPIAUM

WY S B K;W#Wffﬂﬂlﬂ_““‘mlll'..nr...."r.";m"_"_"'#l

. iy =

for the year ended March 31, 2018 and

2019 :

Particulars March 31, [March 31,
2018 2019

Revenue from

operations 16,00,000 | 18,00,000

Administrative

expenses 8,00,000 | 9,00,000

Other expenses | - 1,00,000 | 2,00,000

Tax rate 20%

V. Answer any 1 question from 18 and 19.

carries 8 scores.

(1x8=8)

18. Show the following items in the Balance
Sheet of Jagquar Co. Ltd. as on 31*
March 2019 as per Schedule III of the
Companies Act, 2013 '

Rs.

Equity share capital 40,00,000
10% Debenture 10,00,000
Securities premium 50,000
Statement of Profit and

Loss (Cr.) 1,00,000
Fixed assets 20,00,000
Invento'ries 1,30,000
Bank balance 70,000
Cash in hand 24,000

@XQIOOIBE Y.

akemonend  |@da)31, |moda)3l,
2018 2019

Qypaton

facud@mmeTEel A

afomyes aueyzomo  |16,00,000 | 18,00,000

@OEM.QJAI B 8,00,000 ( 9,00,000

o) -29e10 D 1,00,000 [ 2,00,000

e e 20%

V. 18 gyt 19 aienangs agemeslepo 1 aana)

SURGBH6) DO ag)Pimie:. 8 eapod.

(1x8=8)
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HOQRN EDMETBUD 06N 6.

Equity share capital

10% Debenture

Securities premium

Statement of Profit and

Loss (Cr.)
Fixed assets
Inventories
Bank balance
Cash in hand

Rs.
40,00,000
10,00,000
50,000

1,00,000
20,00,000

' 1,30,000
70,000
24-,000
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19. Prepare a Common Size Balance Sheet = ﬂ;@mmfo Wﬂnmﬁmm@@m&” m“ﬂmﬂ Enm?::;
from the following Balance Sheet of crusoma@Tidh @y, aB0mend esxmmS enoexdms
Sooraj Ltd. and Anil Ltd. asly @QOOBEYL>.
Sooraj Ltd. Anil Ltd.
Particulars Mw wocriad eldigos
alkaasouosmecd
: _ Rs. Rs.
[. Equity and Liabilities
a) Equity share capital 12,00,000 25,00,000
b) Reserves and surplus 6,00,000 3,00,000
¢) Current liabilities 2,00,000 2,00,000
Total 20,00,000 30,00,000
II. Assets
a) Fixed assets 8,00,000 14,00,000
b) Current assets 12,00,000 16,00,000
| Total 20,00,000 30,00,000
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